WATER SUPPLY CONNECTORS

BrassCraft.

PART NO. UPC DESCRIPTION LENGTH QTY LBS
Toilet - Compression (cont.)

B1-12DLM F 026613104201 3/8" Comp x 7/8" Ballcock With Metal Nut 12" 25 56
B3-12DLM F 026613127842 1/2" Comp x 7/8" Ballcock With Metal Nut 12" 25 6.2
Toilet - FIP

B8-9DL F 026613966878 1/2" FIP x 7/8" Ballcock 9" 25 41

B8-12DL F 026613966892 1/2" FIP x 7/8" Ballcock 12" 25 47
B8-16DL F 026613966915 1/2" FIP x 7/8" Ballcock 16" 25 54
B8-20DL F 026613966403 1/2" FIP x 7/8" Ballcock 20" 25 6.1

Toilet - Flare

BF1-12DL F 026613966427 3/8" Flare x 7/8" Ballcock 12" 25 40
BF1-16DL F 026613104348 3/8" Flare x 7/8" Ballcock 16" 25 47
BF1-20DL F 026613966441 3/8" Flare x 7/8" Ballcock 20" 25 54
BF3-12DL F 026613966595 1/2" Flare x 7/8" Ballcock 12" 25 50
BF1-12DLM F 026613127828 3/8" Flare x 7/8" Ballcock With Metal Nut 12" 25 52
BF3-12DLM F 026613127835 1/2" Flare x 7/8" Ballcock With Metal Nut 12" 25 6.2
BF3-16DL F 026613104362 1/2" Flare x 7/8" Ballcock 16" 25 54
BF3-20DL F 026613104379 1/2" Flare x 7/8" Ballcock 20" 25 6.1

Toilet - Compression For Low Boy Toilets

BL3-6DL F 026613097596 1/2" Comp x 7/8" Ballcock 6" 10 1.9
BL3-9DL F 026613097619 1/2" Comp x 7/8" Ballcock 9" 10 22
BL3-12DL F 026613097565 1/2" Comp x 7/8" Ballcock 12" 10 24
Washing Machine - Female Hose Thread

BL12-48WA F 026613105499 3/4" Female Hose Thread x 3/4" Female Hose Thread 48" 25 16.9
BL12-60WA F 026613142609 3/4" Female Hose Thread x 3/4" Female Hose Thread 60" 25 20.6
BL12-72WA F 026613104829 3/4" Female Hose Thread x 3/4" Female Hose Thread 72" 25 232
BL12-48WA P 026613142043 3/4" Female Hose Thread x 3/4" Female Hose Thread 48" 10 74
BL12-60WA P 026613142050 3/4" Female Hose Thread x 3/4" Female Hose Thread 60" 10 85
BL12-72WA P 026613142067 3/4" Female Hose Thread x 3/4" Female Hose Thread 72" 10 96
Dishwasher - Compression

B1-12DW F 026613104218 3/8" Comp x 3/8" Comp 12" 10 1.8
B1-16DW F 026613104263 3/8" Comp x 3/8" Comp 16" 10 22
B1-20DW F 026613104270 3/8" Comp x 3/8" Comp 20" 10 24
B1-36DW F 026613104409 3/8" Comp x 3/8" Comp 36" 10 34
B1-48DW F 026613104416  3/8" Comp x 3/8" Comp 48" 10 42
B1-60DW F 026613104423 3/8" Comp x 3/8" Comp 60" 10 54
B1-72DW F 026613104430 3/8" Comp x 3/8" Comp 72" 10 6.2

www.brasscraft.com

m
F
m
L
o
F
m
1
=
<
=
m
-
=)
I
=
=
m
o
()
(=)
—
—
m
(ap)
—]
(=]
=
(7]






